The goal of this problem is to design a two-port circuit which has these z parameters.

From the z parameters we can see the circuit should be a resistive circuit, and z12 is equivalent to z21, which means that it should be a reciprocal circuit.

No dependent source is in the circuit.

Let’s start from a very simple resistive circuit.

We want to construct a two port circuit with just three resistors.

Let’s work on the template circuit first.

We will use the two-port terminal variables, V1, V2, I1, and I2.
When I2 is 0 z11 is V1 / I1.

I2 is 0 so port 2 is an open circuit.
The same current I1 flow through R1 and R3 because I2 is 0.

V1 / I1 is just R1 + R3.

When I2 is 0, z21 is V2 / I1.

Since I2 is 0, there is no voltage drop across R2, so it’s just like a short circuit for R2.

We can use a piece of wire to replace R2.

So, V2 is exactly the voltage across R3.

I1 flows through R1 and R3, so V2 / I1 should be R3.

This is a reciprocal circuit, so z12 is equal to z21, which is equal to R3.

When I1 is 0, Z22 is V2 / I2.

V2 / I2 should be the resistance in the circuit, so this should be R2 + R3.

Now, we have found the z parameters for the template circuit.

Let’s try to match these with our given z parameters.

z11 should be 100 Ω. z21 is 40 Ω. z12 is 40 Ω and z22 is 50 Ω.

From the second equation, we know directly that R3 is 40 Ω, so from the first equation R1 can be found as 100 Ω – R3.

R3 is 40 Ω, so R1 is 60 Ω.

From the second and third equations, we can find R2.

R2 should be 50 Ω - R3. R3 is 40 Ω so R2 is 10 Ω.

Now we have found the values of each of the resistors in our template circuit.

Those should give the Z parameters as specified in the circuit. 
